## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Supporting the San Xavier District's People Wellness House Grant Application to the Office of Juvenile and Delinquency Prevention's FY 2003 Tribal Youth Program)

RESOLUTION NO. 03-224

1	WHEREAS,	the People Wellness House (a department of the San Xavier District government)
2		promotes individual and family wellness through education, prevention and
3		$intervention\ services\ for\ the\ Tohono\ O'odham\ San\ Xavier\ District\ community; and$
4	WHEREAS,	$this \ \textbf{mission includes providing delinquency prevention and intervention programs}$
5		$for court-involved {\it youth, which includes cultural and language classes to community}$
6		youth; and
7	WHEREAS,	the Wa: k  Community Plan includes  providing social services, reducing delinquency,
8		and promoting youth and family wellness as priorities for the District over the next
9		five years; and
10	WHEREAS,	the People Wellness House desires to expand its programs to meet these goals, and
11		especially to address the problems of community youth delinquency, violence and
12		domestic violence, but lacks the staff and financial resources to do so; and
13	WHEREAS,	there is a pressing need for additional staff at the People Wellness House to perform
14		outreach, increase parental and family involvement in youth programs, work with
15		court-involved youth, and develop and lead wellness and prevention workshops for
16		community youth and their families; and
17	WHEREAS,	the Office of Juvenile Justice and Delinquency Prevention's (OJJDP) FY 2003 Tribal
18		Youth Program presents an opportunity to obtain funding for this additional staff;
19		and
20	WHEREAS,	the Tribal Youth Program offers a maximum award of \$300,000 over a three year
21		project period for tribal communities with 10,000 or fewer residents, and does not
22		have a match requirement.
23	NOW, THE	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby
24		$supports\ the\ San\ Xavier\ District's\ People\ Wellness\ House's\ application\ to\ the\ OJJDP$
25		FY 2003 Tribal Youth Program.
26	BE IT FINA	LLY RESOLVED that the Tohono O'odham Legislative Council hereby authorizes
27		the San Xavier District officials to execute all necessary documents related to
28		obtaining OJJDP grant funds, and with programmatic and financial reporting
29		requirements.

	RESOLUTION NO. <u>03-224</u> (Supporting the San Xavier District's I and Delinquency Prevention's FY 200 Page 2 of 3	People Wellness House Grant Application to the Office of Juvenile 13 Tribal Youth Program)								
1 2 3 4 5 6 7	of <u>MAY, 2003</u> at a meeting at which a <u>254.85</u> NOT VOTING; and <u>[02]</u> ABSEM (f) of Article VI of the Constitution O'Odham Nation on January 18, 19	d by the Tohono O'odham Legislative Council on the <u>09<sup>TH</sup></u> . Day quorum was present with a vote of <u>2,162.65</u> FOR; <u>-0-AGAINST</u> ; NT, pursuant to the powers vested in the Council by Section 1 n of the Tohono O'Odham Nation, adopted by the Tohono 86; and approved by the Acting Deputy Assistant Secretary -ch 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48)								
8										
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL								
10										
11		Jan Ge Man								
12		Rita A. Martinez, Legislative Chairwoman								
13		12 Hday of may, 20 03								
14		10 day of 1 1 day , 20 0								
15		$\mathcal{O}$								
16	ATTEST:									
17	( Jula ha									
18 19	Julianna Saraficio, Acting Legislative Secretary									
20		-								
21	09 day of May	20 03								
22	,									
23	Said Resolution was submitted for a	approval to the office of the Chairman of the Tohono O'Odham								
24	Nation on the 124 day of	$\frac{1}{20}$ , 20 $\frac{1}{12}$ at $\frac{1}{12}$ o'clock, $\frac{1}{12}$ .M.,								
25		on 5 of Article VII of the Constitution and will become effective								
26	upon his approval or upon his fai	dure to either approve or disapprove it within 48 hours of								
27	submittal.									
28										
29	•	TOHONO O'ODHAM LEGISLATIVE COUNCIL								
30		$X + 0 \rightarrow 77$								
31		Upu Je many								
32		Rita A. Martinez, Legislative Chairwoman								
33		_								
34										
35										
36										
37	[ 1 APPROVED	on the day of, 20								
38										
39	[ ] DISAPPROVED	at o'clock,M.								
40										
41	EVOCEDED 46 MANAGE									
42 43	EXCEEDED 48 HOURS	EDWARD D. MANUEL, Chairman								
		TOHONO O'ODHAM NATION								
44		IOHONO O ODMANI NATION								

	RESOLUTION NO. <u>03-224</u> (Supporting the San Xavier District's People Wellness House Grant Application to the Office of Juvenile and Delinquency Prevention's FY 2003 Tribal Youth Program)
.	Page 3 of 3  Returned to the Legislative Secretary on the / 4th day of
	Returned to the Legislative Secretary on the / 4th day of  May
-	
	Julianna Saraficio, Acting Legislative Secretary
I	
I	
۱	
l	
1	

ACTION: SUPPORTING THE SAN XAVIER DISTRICT'S PEOPLE WELLNESS HOUSE GRANT APPLICATION TO THE OFFICE OF JUVENILE AND DELINQUENCY PREVENTION'S FY 2003 TRIBAL YOUTH PROGRAM

MOVED: COUNCILWOMAN FRANCES ANTONE SECOND: COUNCILMAN DAVID GARCIA

DATE: MAY 09, 2003

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	158.85	X			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	х			
CHUKUT KUK	1. KENNETH WILLIAMS	124.05	х			
248.1	( Juanita Homer) 2. DAVID GARCIA ( Mary Audrey Juan )	124.05	х			
GU ACHI	1.CAMILLUS LOPEZ	115.35	Х			
188.3	2. JEROME JOAQUIN ( )	115.35	X			
GU VO	1. FERN SALCIDO	94.15			X	
188.3	2. EMILIO LEWIS ( Michael Flores)	94.15	X			
HICKIWAN	1. SHIRLEY MOLINA	83.65	X			
167.3	2. SANDRA ORTEGA	83.65	X			
PISINEMO	1. BARBARA SALVICIO	87.35	х			X
174.7	( Alex Antone ) 2. PATRICIA CRUZ (Johnson Jose)	87.35	X			
SAN LUCY	1. ALBERT MANUEL JR.	80.35			X	х
160.7	( Johnson W. Larson ) 2. GLORIA RAMIREZ ( )	80.35			X	
SAN XAVIER	1. FELICIA NUÑEZ	92.35	х			
184.7	2. DENNIS RAMON ( )	92.35	X			
SCHUK TOAK	1. MARY FLORES	72.25	х			
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	X			
SELLS	1. DENNIS E. JOSE	208.05	X			
416.1	2. EVELYN JUAN	208.05	x			
SIF OIDAK	1. ISIDRO LOPEZ	92.35	X			
184.7	(Nicholas Jose) 2. RITA A. MARTINEZ ( )	92.35	X			
Т	OTAL	2,417.5	2,162.65	-0-	254.85	[02]